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Appendix



Figure S1 A: The difference in arm-specific Uno C-statistics (AC-statistics) between the training
and validation sets in the alternative scenarios. The different symbols represent the average of the
estimated AC-statistics value in the validation sets. The vertical lines represent the reduction in
AC-statistics from the training set to the validation set. B: Box plots of the Uno C-statistic
calculated on the 500 replications of the training set and of the validation set. The box delineates
the interquartile range (IQR) and contains a horizontal line corresponding to the median; outside
the box, Tukey-style whiskers extend to a maximum of 1.5*¥IQR beyond the box. The black
diamonds represent the average of the absolute values of the AC-statistic (panel A) and the
average of the C-statistic (panel B).
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Figure S2 A: The difference in arm-specific Uno C-statistics (AC-statistics) between the training
and validation sets in the scenario 4b (extension of the scenario 4 in changing the biomarkers
number from p = 500 to 5000). The different symbols represent the average of the estimated
AC-statistics value in the validation sets. The vertical lines represent the reduction in
AC-statistics from the training set to the validation set. B: Box plots of the Uno C-statistic
calculated on the 500 replications of the training set and of the validation set. The box delineates
the interquartile range (IQR) and contains a horizontal line corresponding to the median; outside
the box, Tukey-style whiskers extend to a maximum of 1.5*¥IQR beyond the box. The black
diamonds represent the average of the absolute values of the AC-statistic (panel A) and the
average of the C-statistic (panel B)
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Figure S3 Scatter plot of regression coefficients for gene-treatment interactions selected across
500 replicates. The number of gene-treatment interactions selected across these replications is
1512, 5618, 4524, 270, 262, and 550 for AL(RT), AL(SW), AL (Ridge), SGL, cMCP, and gel
methods, respectively.
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